THISHEE BREE6E RRBER

RENREXMED : fSH15F6A3A (1)

[(RIIRESE 5 E]

RRARERR

£ 8 B %: 1155000~ <BENHETEEH> —#%: 158, 34%:088. 2% 1388 (5+:145)
RE| RBR|AE| B & (B X) Ik BEM | BIEER | fEmiML % =
anN/ TFUR | R an/YyFy—~F .
1R 1 a HFOLEH - 1.40.0
5| &% GNEEE) | 5 | B A A—Duy ] EEEE 1.34.4
—
1, 400m
&
B %l
11:00
Rk
B
11:15
EIE | 1
BALIN—RATS | R w4V RATFERTYY
2R 1 a gorner| £ | 1.04.0
8 | A (Co b—BBH) | 2 | B FU—Lis—f |TOERE| ERE EERE 0.59.5
AA—=Hyyv Y H R /75T
2 2 E | & HFOENE| $5KEH| 1.04.0
# ok GAED)| 2 | B xE—qoiur TP BAES EHES 0.59.2
FILET - #| R 5= BERBTRE (\SZAE) BEATRRE
9001 3 F* |FE o JIIFEZ| 1.04.0
" *o|\TEE EHE—ED)| 2 | B 5 vh AT | I EmEE 1.04.9
BTINTEYY H|R RR+9+r—1U7F - HRERNLLBE (RETR)
4| B |F& X =Hr |&E—2| 1.04.0
§oRER GREE)| 2 | B Aruzoa—py | BE0(EE-A BEEELA 1.00.8
& i |FTTUTA A I A I A _ S
Ba | 0| B | O® GEEa®)| 2 |8 Toq e R e e 0.58.0
ISvLET #| R FE—Ra—F— _ RERHFE (RETR)
1:30| 6 | @ |*& A5 NFZ| 1.04.0
& " (EFET7—L)| 2 | B 235/ 0vF AT | AR 1.02.0
RE FT—TFoUvF— R 3y yx— .
7 =z | & X Fo | BiER 2| 1.04.0
B %I ' | o #E-B)| 2 |8 5T3—trsH v B2 RTINS 0.59.0
11:45
#E| 5 — 7 — 2 — 1 — 4 — 6 — 3
FUNRITIL IR AMLTSY
3R | 1 & g SET | R 1.04.0 _
q | B WxE)| 2 | B LIXFHEAL AT | MEEAIE M 0.59.6
A=— 1R T—ILFI—XR
2 2 = & HorEser| )z 1.04.0
# ol Bkl EEEH)| 2 | B8 7=— R RN 1.00. 1
GWAFHI—F 1R Jroerx )
900 3 IR = R swoEs | #EFE=| 1.04.0 _
" Gl Rk (EWLE | 2 |8 FFUF o BEHD 0.58.5
RZ FTSHR— |2 59U—54 _
s | o= | =HT |$aKEH| 1.04.0
S Rk @HIE—) | 2 | B ros—zE—say | DE0 BAES ENER 0.58.7
& 7HR (R 5/ oLz F | .
= 5 & p=p = |1.04.0
B2l = | B GENED| 2 | B aor —ky—s | 00 | R =@ 0.59.0
RILK—TVYUR | R w—YEL
122000 6 | ®& | & TEET | BB 1.04.0
| &k Sy T-<RkTAVM)| 2 | B F—F v L AT | B2 hEfEh 1.01.0
RE
BEZI
12:15
#E| 3 — 4 — 5 — 1 — 2 — 6




